RM%&= -1 7
RM-25 (1/4W)

RM-50 (1/2W)

WEER

AANT U—XREBEFEERT U\ ATERSS)

RM-1 (1W) RM-2 (2W)
RM-3 (3W RM-5 (5W
(3W) (W) 1. €532 v 7 &
2 ER I
mE K 5 w0
4. ﬁ':%&i-%
- BREREOEMEHEAL, WH, FHEl Rp Rk
DENTzNA A THERB T,
=] Py
B SERERAE
R M| - |2 5 C K F 1 0 0 3 -

e EHREN e 4K EhEraE NFFIEHE T - e
M RS 25 | 1/40 c EEIN B +0. 1% E-24 Y)-3" BL | A
EEEHS 50 | 1/20 v 3 c +0. 25% E-96 Y)-3" T HRT-t U

1 ™) FL | #% D +0. 5% T-26 | 26mm #87-t" v9°
2 oW T BERT- U F +1% T-52 | 52mm #87-t" v9°
3 3W —— G +2% XUHFA I SO
5 50 EHAERHB(T.C.R) J +5% 43~461 - BB
H =+ 50ppm/°C
K =+100ppm/°C
- =+300ppm/°C
2 < 3
WAkt ik WS AR
120 |
100 -40°C i0°C
i ] i L i ‘ i D % 80
H [11]
g ﬁ 40 \
FIHFTEFE J;| 20
FHTET ) \lzsp
BLIMTEF -60 -40 -20 0 20 40 G0 %0 100 120 140 160 180
EHET -
A AERR 0
B~ &
il <t % (mm)
. X SR ETR
Sy —= L ¢ d
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50, 100 +0.1,+0.25, +0.5 2on
+1,+2 +5
0.5 +0.1,+0.25 30M
RM-25 500 750 1,500 500k
(1/4) 4300 +0.5 100M
+1 1,000M
42, +5 1, 500M
+0.1,£0.25, +0.5
+50, =100 L1 wo e 30M
+0.1,+0.25 30M
0.5
RM-50 1,000 1,500 3,000 +0.5 800k 100m
/2 +300 +1 1, 000M
+2, 1, 500M
+5 2, 000M
+0.1,+0.25 30M
+50, =100
+0.5 =1, =2 *5 40M
+0.1,+0.25 30M
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+300 +1 1, 000M
+2, 1, 500M
+5 10, 000M
e 0.1,+0.25 30M
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+0.5 =1, =2 *5 100M
+0.1,+0.25 30M
RM-2 2 3,000 5,000 10, 000 +0.5 m 100M
+300 +1 1, 000M
+2, 1, 500M
+5 10, 000M
+0.1,+0.25 30M
+50, +100
+0.5, 41, +2 +5 100M
+0.1,+0.25 30M
RM-3 3 5,000 7,500 15,000 +0.5 m 100M
+300 +1 1,000M
+2, 1, 500M
+5 10, 000M
+0.1,+0.25 30M
+50, =100
+0.5 =1, =2 *5 100M
+0.1,+0.25 30M
RM-5 5 10,000 | 15,000 | 30,000 +0.5 m 100M
+300 +1 1, 000M
+2, 1, 500M
+5 10, 000M
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